
308  Price book 14  Effective March 1, 2024

2390 Series | Parts

2390 SERIES DEVICE PARTS

2390 SERIES EXPLODED VIEW AND DEVICE PARTS LIST

Part number Description US Finish BHMA Finish Pkg Qty Price

1 971493-76 Dogging spring - - Each $15.00

2 AXLE.1006 Lift lever axle - - Each $15.00

3 BRKT.137 Pushbar anchor bracket - - Each $23.00

4 BRKT.143 Lift bracket - - Each $23.00

5 BRKTASY.107 Actuator arm bracket assembly - - Each $23.00

6 BUSH.109 Bearing bushing - - 10 $35.00

7 COVER.127 Fixed cover - - Each $47.00

8 ECAP.143 Moving pushbar end cap - - Each $20.00

9 KEY.10020 Hex dogging key 5/32" - - 10 $62.00

10 KIT.1197 Dogging kit - - Each $44.00

11 NUT.101 Rod jam nut - - 10 $34.00

l  RX Switch Kit valid for Field Install RX option on devices shipped after June, 2002.
▲ For Devices shipped before September, 2004.

EXPLODED VIEW

8

1

7

9

10

7

12

26 12

3
16 8

8

17

9

11

15

20

11

24

25

11

19

18

2

3

4
56

7

27

4
13 6

21

1
10

2322

15 15

25 SER
IES

24 SER
IES

19 SER
IES

20
 SER

IES
1690/1790

 SER
IES

1490/1590
 SER

IES
2390

 SER
IES

1990/20
90

 SER
IES

ACC
ESSO

R
IES



Price book 14  Effective March 1, 2024  309

2390 Series | Parts

2390 SERIES EXPLODED VIEW AND DEVICE PARTS LIST

Part number Description US Finish BHMA Finish Pkg Qty Price

12 PIN.128 Pushbar pin - - 10 $20.00

PKG.134 Mounting package US32D 630 Each $35.00

PKG.135 Mounting package DC35 711 Each $35.00

13 RRING.109 Retaining ring .250 - - 25 $32.00

15 SCREW.1028 10-32-1/4" UFPHMS US32D 630 10 $34.00

SCREW.1029 10-32-1/4" UFPHMS Black - 10 $34.00

16 ▲ SCREW.1077 #8 3/4" FPH TF AB screw (before September, 2004) - - 10 $34.00

SCREW.1141 8-18 .3/4" FPH TF Typ 25 - - 10 $26.00

17 SCREW.1088 12-14 1/2" UFPH MS Typ 25 screw - - 10 $26.00

SCREW.1121 10-32-3/8" UFPH TF US28 628 8 $16.00

SCREW.1114 10-32-3/8" UFPH TF DC13, DC35 710, 711 8 $16.00

SCREW.1076 Hex rod guide screws US28 628 10 $15.00

SCREW.1081 Hex rod guide screws DC13, DC35 710, 711 10 $15.00

EXTROD.1001 Extension rod kit (not shown) - - Each $179.00

18 4270107176 Hex rod guide assembly US32D 630 Each $55.00

4270107178 Hex rod guide assembly P35 622 Each $55.00

19 BOLT.1004 Hex bottom bolt-beveled - - Each $62.00

20 4270101806 SU Top latch - - Each $158.00

21 4270100346 ES Top latch - - Each $181.00

22 4270100521 RL Bottom latch - - Each $132.00

23 4270101482 PL Bottom latch - - Each $132.00

PIN.110 ES Latch pin - - 10 $33.00

PIN.109 SU/ES/PL/HH Latch spirol pin - - 10 $26.00

l SWITCH.1006 RX Switch wire assembly (not shown). Valid for field install RX 
option on devices shipped after June, 2002

- - Each $317.00

47639878 EL Solenoid and plunger assembly (not shown) - - Each $417.00

050534-00 EL Potted circuit breaker (not shown) - - Each $483.00

110388-00 EL Cable assembly (not shown) - - Each $67.00

24 ROD.1043 Top rod 34.000", CL=42.5, DH=83.1875" - - Each $47.00

4270103324 Top rod 35.500", CL=41.25, DH=83.1875" - - Each $47.00

ROD.1082 Top rod 39.000", CL=37.875, DH=83.1875" - - Each $47.00

ROD.1036 Top rod 36.500", CL=40, DH=83.1875" - - Each $47.00

25 ROD.1080 Bottom rod 40.000", CL=42.500" - - Each $47.00

ROD.1044 Bottom rod 38.500", CL=41.250" - - Each $47.00

4270100017 Bottom rod 35.125", CL=37.875" - - Each $47.00

ROD.1011 Bottom rod 37.500", CL=40" - - Each $47.00

KIT.1128 2390 LBR kit - - Each $23.00

l  RX Switch Kit valid for Field Install RX option on devices shipped after June, 2002.
▲ For Devices shipped before September, 2004.

2390 SERIES DEVICE PARTSEXPLODED VIEW

LO
CK

S
D

O
O

R
 C

LO
SE

RS
EL

EC
TR

O
N

IC
S

FO
R

M
S

M
ER

CH
A

N
D

IS
IN

G
 A

ID
S

EX
IT

 D
EV

IC
ES



310  Price book 14  Effective March 1, 2024

2390 Series | Parts

2390 SERIES DEVICE PARTSEXPLODED VIEW

2390 SERIES EXPLODED VIEW AND DEVICE PARTS LIST (CONTINUED)

Part number Description US Finish BHMA Finish Price

26 EXT.3000 Pushbar 21" US28 628 $213.00

EXT.3001 Pushbar 21" DC13 710 $231.00

EXT.3002 Pushbar 21" DC35 711 $231.00

EXT.3004 Pushbar 24" US28 628 $249.00

EXT.3005 Pushbar 24" DC13 710 $274.00

EXT.3006 Pushbar 24" DC35 711 $274.00

27 EXT.3008 Cover plate 21" US28 628 $85.00

EXT.3009 Cover plate 21" DC13 710 $95.00

EXT.3010 Cover plate 21" DC35 711 $95.00

EXT.3012 Cover plate 24" US28 628 $92.00

EXT.3013 Cover plate 24" DC13 710 $108.00

EXT.3014 Cover plate 24" DC35 711 $108.00

EXT.3050 EL Cover plate 21" US28 628 $89.00

EXT.3051 EL Cover plate 21" DC13 710 $99.00

EXT.3052 EL Cover plate 21" DC35 711 $99.00

EXT.3054 EL Cover plate 24" US28 628 $95.00

EXT.3055 EL Cover plate 24" DC13 710 $112.00

EXT.3056 EL Cover plate 24" DC35 711 $112.00

CHASY.147 Channel assembly 36" door (supplied for field sizing) US28 628 $139.00

CHASY.160 Channel assembly 36" door (supplied for field sizing) DC13 710 $168.00

CHASY.107 Channel assembly 36" door (supplied for field sizing) DC35 711 $168.00

CHASY.108 Channel assembly 48" door (supplied for field sizing) US28 628 $160.00

CHASY.109 Channel assembly 48" door (supplied for field sizing) DC13 710 $227.00

CHASY.125 Channel assembly 48" door (supplied for field sizing) DC35 711 $227.00

EXT.2927 Filler plate 16.50", 42" Door (supplied for field sizing) US28 628 $43.00

EXT.2949 Filler plate 16.50", 42" Door (supplied for field sizing) DC13 710 $47.00

EXT.2950 Filler plate 16.50", 42" Door (supplied for field sizing) DC35 711 $47.00

EXT.440 Filler plate 19.50", 48" Door (supplied for field sizing) US28 628 $44.00

EXT.445 Filler plate 19.50", 48" Door (supplied for field sizing) DC13 710 $47.00

EXT.450 Filler plate 19.50", 48" Door (supplied for field sizing) DC35 711 $47.00

l RODASY.10001 Top rod assembly RHR AL=40.176", CL=42.500", DH=83.1875" - - $208.00

l RODASY.10002 Top rod assembly RHR AL=41.426", CL=41.250" DH=83.1875" - - $208.00

l RODASY.10003 Top rod assembly RHR AL=44.801", CL=37.875", DH=83.1875" - - $246.00

l RODASY.10004 Top rod assembly RHR AL=42.676", CL=40", DH=83.1875" - - $208.00

l RODASY.10005 Top rod assembly RHR AL=41.489", CL=41.250", DH=83.1875" - - $208.00

l RODASY.10006 Top rod assembly LHR AL=40.176", CL=42.500", DH=83.1875" - - $208.00

l RODASY.10007 Top rod assembly LHR AL=41.426", CL=41.250", DH=83.1875" - - $208.00

l RODASY.10008 Top rod assembly LHR AL=44.801", CL=37.875", DH=83.1875" - - $246.00

l RODASY.10009 Top rod assembly LHR AL=42.676", CL=40", DH=83.1875" - - $208.00

l RODASY.10010 Top rod assembly LHR AL=41.489", CL=41.250", DH=83.1875" - - $208.00

l RODASY.10011 Bottom rod assembly AL=41.877", CL=42.500" - - $108.00

l RODASY.10012 Bottom rod assembly AL=40.627", CL=41.250" - - $108.00

l RODASY.10013 Bottom rod assembly AL=37.252", CL=37.875" - - $108.00

l RODASY.10014 Bottom rod assembly AL=39.377", CL=40" - - $108.00

l  Complete rod and latch assembly includes standard rod (4270100017) and (NUT.101).

25 SER
IES

24 SER
IES

19 SER
IES

20
 SER

IES
1690/1790

 SER
IES

1490/1590
 SER

IES
2390

 SER
IES

1990/20
90

 SER
IES

ACC
ESSO

R
IES



Price book 14  Effective March 1, 2024  311

2390 Series | Parts

EXPLODED VIEW 2390 SERIES CYLINDER ASSEMBLY

8

1

7

9

10

7

12

26 12

3
16 8

8

17

9

11

15

20

11

24

25

11

19

18

2

3

4
56

7

27

4
13 6

21

1
10

2390 SERIES CYLINDER ASSEMBLY

Part number Description US Finish BHMA Finish Pkg qty Price

1 HOUSING.123 2390 Cylinder housing P28 689 Each $122.00

HOUSING.124 2390 Cylinder housing P13 695 Each $122.00

HOUSING.125 2390 Cylinder housing P35 622 Each $122.00

2 971974-00 Mortise locking collar - - Each $20.00

3 BRKTASY.118 2390 NL/HB Bracket assembly - - Each $57.00

4 971585-89 Mounting stud - - Each $19.00

5 WASHER.120 #10 Countersunk washer DC35 711 10 $20.00

5 WASHER.121 #10 Countersunk washer US32D 630 10 $20.00

6 SCREW.1083 10-24 x 1" OPHMS US32D 630 10 $23.00

7 SCREW.1082 1/4-20 x 3/8" SHCS - - 10 $23.00

8 BRKT.152 2390 Rod lift bracket - - Each $34.00

9 SCREW.1084 1/4-28 x 3/4" SHCS - - 10 $26.00

10 BRKTASY.155 Lift bracket kit - 2" door - - Each $61.00

11 SCREW.1085 8-18 x 5/16" UFPHSMS AB Screw - - Each $23.00

STRIKE

Part number Description US Finish BHMA Finish Pkg qty Price

SHIM.112 PB48 Strike shim - - 10 $35.00

SCREW.1038 Screw 8-32 x 1/2" UFPHMS Black - 25 $23.00

SCREW.1032 Screw 8-32 x 1/2" UFPHMS US32D 630 25 $23.00

LO
CK

S
D

O
O

R
 C

LO
SE

RS
EL

EC
TR

O
N

IC
S

FO
R

M
S

M
ER

CH
A

N
D

IS
IN

G
 A

ID
S

EX
IT

 D
EV

IC
ES




